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7KRXJK VRPH FRPPHQWDWRUV GHVFULEH ³TXDVL�FRQWUDFW´ DQG ³XQMXVW

HQULFKPHQW´ DV WZR FRPSOHWHO\ VHSDUDWH GRFWULQHV� VHH �� $0� -85� �'
5HVWLWXWLRQ DQG ,PSOLHG &RQWUDFWV �� ��� �� ������� 2KLR FRXUWV XVH WKH
SKUDVH ³XQMXVW HQULFKPHQW´ WR GHVFULEH WKH WKLUG UHTXLUHPHQW IRU ³TXDVL�
FRQWUDFW�´ WKH RQH DW LVVXH LQ WKLV FDVH� 6HH +DPEOHWRQ� ��� 1�(��G DW
����� 7KLV LV D GLVWLQFWLRQ ZLWKRXW D GLIIHUHQFH XQWLO LW FRPHV WR
PHDVXULQJ GDPDJHV�

&RPPHQWDWRUV WKDW GHVFULEH WKH WHUPV DV VHSDUDWH GRFWULQHV VHW RXW D
GLIIHUHQW PHDVXUH RI GDPDJHV IRU HDFK� 6HH �� $0� -85� �' 5HVWLWXWLRQ

DQG ,PSOLHG &RQWUDFWV � �� ������ �H[SODLQLQJ WKDW LQ D TXDVL�FRQWUDFW
FDVH� GDPDJHV DUHPHDVXUHG E\ WKH UHDVRQDEOH YDOXH RI WKH ZRUN SURYLGHG
E\ WKH SODLQWLII� ZKHUHDV LQ DQ XQMXVW HQULFKPHQW FDVH� GDPDJHV DUH
PHDVXUHG E\ WKH EHQHILW UHDOL]HG E\ WKH GHIHQGDQW�� 2KLR FRXUWV VHW
GDPDJHV IRU TXDVL�FRQWUDFW FDVHV DW WKH UHDVRQDEOH YDOXH RI WKH JRRGV RU
VHUYLFHV SURYLGHG� 6HH� H�J�� 5RVV�&R 5HGL 0L[ &R�� ���� :/ ������ DW

�� &RPPHQWDWRUV DQG WKH 2KLR &RXUWV RIWHQ WHUP WKLV PHDVXUH RI
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